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this question paper.

Attempt any five questions.

Use of simple calculator is allowed.

(a) A firm manufacturing office furniture provided the

following information regarding resource consumption,
availability and profit contribution ;

Resomees - :

Nt Usage per unit Availability |
Timh\' Tables | Chairs | Book case
$ f) 8 |4 |3 80 ]
\F%\Plzdit&( man hours) |4 6 2 540
W‘m hows) J1 111 T —
Mn perunitlin 7) [30 |20 |13 —

P.T.0.
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; ing
(i) Formulate the problem as a linear programm
problem.

; jmu®
(if) Find the optimal product mix and the total max
profit contribution.

(b) Consider the following L.P.P. :

Max. Z = 4x +10x,

subject to constraints:
2x, + X, < a,

2x, + 5%, < a,

2x, + 3x2 < a,

X;s X, 20 565

yal

where a

ific
4, and a, are constants. For spec
of a

1» 3, and a, the optimal solution is :

s |
Basis x " 5
B x]_ xz x3 4 /
_—‘__—-__H—-—__—'—" -1 0

X 30 by o | 1 | 3

X, 20 b, 1 0 )
| e =

5 b 0
S R |
4=q Z=200 o | 4 €

= 0 0

Bl |

Evaluate the following 2

)

839¢ 3

t yield the given
(i) The values of a,, a, and a, that 'y

optimal solution.

' bove
(ii) The values of b,, b, and by, d and e in the a

7,3)
given optimal table. (

(a) Discuss the effect of adding a new non-negative variable
X, in the given LPP:
Max. z = 3x, + 4x, + x, + 7X,
subject to the constraints:

8x, + 3x,+ 4x;+ x, < 7

1
2%, + 6x,+ x, + 5%, < 3

X, + 4x, + 5x3+ 2x4$ 8
x,20;j=1,2,3, 4.

It is given that the coefficient of XX in the constraint

are 2,7 and 3 respectively and the cost componer
associated with x¥ is §.

() Use dual simplex method to solve the following problen
Min 7 = 2%, + x, + 3x,
Subject to the constraints:
Xy~ 2% +x, 24

2x1+x2+x3s8

PT



T

'0'L'd |
o1} 18 SOTI[IqE[IBAE STA-B-STA WM seqnonred e 3o 30adsar
ur ejep oYL ‘M PUB Z ‘A ¢y $2I3U9d uonnqlnsip Inog
£q yow olg sauloIpaw JO syuowraIrnbal Apquowr Iay T,
‘@ pue D ‘d ‘v s[endsoy
gured 9yl jo

pue 10ferd oy} Jo UoBD 10] A3ajens

aneA U0 JUAWWOD
Jt ‘urod

159q oY) PUL] 'UI0D 5.V suim g ‘UdAd St wns 211
§.g SUIM Y ‘junowe ppo Uue s1 SUT0d 2y} Jo Wns oyl J1
wy oY} INOYILM UIOO B 5109738
SUOTIBUIWOUIP

"991079 § 1710 JO a3pajmo
yoeqg ‘0 'Y PuUE §'SY ¢z sy ‘1°SY

JuswuIdA03 N0} sey 91818 V¥ (q)

JO suIod SEY YoLd ‘yued e sAejd g pue 'V s1okerd om], (&)

| &Y | or|6| ofor] 6 58
\ | ¢ |el elv| 8l ¥S
| r__ﬁ__é___z..‘_t.;__%_______—fs
| e 2 T 1
| "o lo| elsl el 18
\ crlvrleL|eL| L]

% A1ojdL UBRWSS[ES |

1 : JuowugIsse rewndo

o pulg ‘A10)1139) [OEI ur uewsafes Yoed £q pojeIaudd

2q ued ey} (soadn uot[[IW ur) sa[es £119y1Enb 39U} SMOYS
i o1qe} Surmo[[oj 34 <gpuemirojrod ised oY UO paseg
| -so11031119) 9AIY O} poudisse aq 0} oI¢ uowsa[es aA1g (q)

|

: (L opou) osoe '
Id Jiom
ouoptset ST WOI} OUBISIP I591107s oy :;{1 0} (1
€ 91nos

2
ourwi1a13d *(L epou
g POT 03 T apou) soowrd xys pue

) oouaplsal STY UdMIaq “sury ur iy
o0’ o1qissIutIad AT $A13 104 gou BIIIAAO[.IP o
L AN

¢
oo (501 STU woij 9oeld YIom o
: 0
o g0WPF U} 0} 9jnos 1501107s o1y

sPoﬂ)
1591'10
g

1019P 01 P2PIO2P Y 18y} Surop o 10329 1nq Aued
18ifok]

o
0! g yoroidde o
o1p® v } Papmoap oy "BALID 0} wiy

| # owe02q 11 Sin
ot P 4 3t SN0y yead oyy Suunp speoy yo

10, ;

olﬂgn £awoy 03 o0d 104 J0 99e[d JueiSp pue soyugpig

1 goa#124 ATIEP 9AHIP 03} pey Ioeuew Ialor:{. 9J(

: vE

sL) I8 $93e)10

(ustﬂq““gldgl 30 2381 ONUY TIM [apow momm:zs s
I ue 101

b 19pIO0 OTWOUOD3 373 10
fne? } uorssardxs ue
190 (q)

(Kiuenb 19pI0 OMWOU00 Furojdurs £
2q PI0O° Kouow yonur MO ;Ad110d A10jusaur Bqn:;:%
o 30 3590 [e30} 98U} ST JBUA ‘onfeA jmun }c; (y. [xa
umpiso 8¢ 3800 Burhiuieo Atojmasur oqy, -gg; 5 soxo fs;e
guuopi0 O pue $T1 2 S1 x0q 10d 3500 oy, ‘A[ddns Eiluou?

cu st goryM $3X0q 008 3O 101 UI sAnq Luedwos 7xy (e)
Bl e

96¢8




8396 6

. 'on
; istributl
centres, requirements at the hospxtals and the di
cost per unit (in paise) are given below :

Warehouse Hospital :

A B C D : 006/
X 4 184 84 g0 | 2 T
Y %2 30 Tér Tso Ti200
Z 32_[100 [9% |72 5055-*/
W 80 136 1120 |60 2336’/
Requirement | 8000 | 8000 | 6000 3000 2———**/8)

‘ a,
Determine the optimum distribution.

6. Write short notes on the following :

(i) Assignment problem as a

)
rtat1f
special case of TranspO
problem

ot T L3

(i) Two Person zero sum game

ing
m?
(i) Canonica] ang Standard form of linear progra

(5’5,5)




